(4 T T7ILsmAF] IEREK

2022/4/13

B F
p.vi E* =k\{0}
p.6,15 * F33 HETS
p.14,19 L ERAETIRIIERTH S L B AT AR IZEIRTH B
p.19,1 17 .,a % RDORFET La#1% RDRFEL
p.19,1 9 ZorE, f710)=aR ... ZorE, f710)=bR M ...
p.23,] 13 O 2460 BEIT 5.
p31,17 a+a:=a+b a-a:=ab a+b:=a+b, a-b:=ab
p.37,16 RZEEL, RZBIg L L,
p.38, 7% 40) | Pierre de Fermat (1601-1605) Pierre de Fermat (1601-1665)
p.43,110 | IR= R MDD IR =1D YD
p.49,1 8 zyel=z+y zyel=z+yel
p.67,1% 84) | [ 3.17 ] 3.18
p.67,117 |7w(x)=x+J m(x)=x+1T
p.70,1 4 X0 fix X0 fix
p.77,1 2 5L, Tét,j#imﬁbf
p.77,1 6 dx; € A, qb(mz) = dx; € R, ¢>(xl) =
p-78,13 R/(IiIy--- 1) = R/(h NhLnN---N1Iy) R/(Ii Iy 1) = R/(h NhLnN---N1Iy)
p.78,1 ~ R/ ><R/12 X -+ x R/In ~R/I ><R/12 X -+ x R/,
p8LLT | ae M, S a € Mea f (1)
p.81,11 Maeaf(Ir)) Maeaf(Ix)
p-84,1 2 ((n) : (m)) ((m) : (n))
p.90,1 11 | fE/INAT T 7 Mt 7 7 v
p.93,] 4 R[X] R'[X]
p-93,15 = (3 o(ai)X*)(o(b) X7) = (X o(a)X") (X o(b;)X7)
p.98,1 8 PZEBEBROATTIVET S, PZEBROEDATTIVET 5.
p.99,1 8 PERERDATTNETHLE, PEZEBRBRDEDATTIET L X,
p.100,18 |PZBRDATTINETEHELE, PZBRODEDATTINVET L &,
p.101,1 16 | - HFEL LRV E &, CPFELRVE E,
p102,18 |, B IZIZ2EATHWS: - , LI Z2&ATWS:
p.103,15 |, P'=(lp))=R &7%3%DT , PP=(1gp)=R 7x5DT.
p.103,113 |, P DFEATTIVTH 5. , ROEZEATTILVTH5.
p.107,112 |de Vi(1 <i<n) ie Vi(l <i<mn)
p115,174 | IC(f(X) Ic(f(X))
p118,15 | d(z) | f(z),d(z) | g(z) d'(z) | f(z),d'(z) | g(z)
p.118, L 11 | %K 4.4.2 T 4.4.3
p119,14 | = (f(X),9(X)) = (f/(X)) + (9(X)) C (d(X)) | HIFR
p119.15 | (J(X)) € (F(X)) N g(X)) (F(X)) € (f(X) N (g(X))




E

Rz~

iE

p121,] 11
p.121,71 12
p.122,] 8
p.122, 13
p.122,1 12
p.123,15
p.127,] 1
p.129.1 3
p.133,179
p.134,7 3
p.138,{F 196)
p.152,] 12
p.155,1 3
p.157,1 2
p.158,1 8
p.159,1 11
p.159,71 6
p.162,1 2
p.163,] 1
p.163,1 11
p.165,1 6
p.167,71 3
p.168,] 3
p.168,] 6
p.168,1 10
p.168,1 14
p.168, 71 12
p.168,1 4
p.168,71 3
p.169,1 2
p172,] 11
p.179,1 2,3
p.179,1 5
p.182,1 4
p.182,1 2
p.186,71 8
p.186,1 7
p.187, 11 260)
0192, ] 1

FX) | 9(X)h(X) = F(X) | g(X)

K[ X) \&EH 2.2.3 &0

L, pi(X) #a(X) edhi

(X)) # ga(X) D& %
p1(X) = eaq1(X)(e1 € K)

i 4.1.7
o(X)=T%0Y)=T*0(X)=T5
X5, (1) &,

VIR = f(I)R' DEBRIE f(I) TH 5
= (n")™"=0,...

fid 3.3.11,
ZDTRTOUEHEATTILQ ...
I¢gP=Q:1=Q

= zeQ: I
QUEFKerfCcQzAzLTWS

lp = f(1)

Q) f~U(P) #FEA T T
Q:=QiNQi, N---NF;,

L EE-ODQITED

(I:2)= (N2, Qi) 12 =i, (Qi : @)
LED.

X RDATTINET B,
RDAFTIPIZHLT

(1) I=N, Qi = fI) =iz, f(Qi)
(i) Qi DN Qi == f(Qi) D N4 [(Qi)
o, (D) =00 Q) I XHESE - -
X510z, (i) &b
EoT, T= Q-

MAfESM () £ 0

KIX]p = {F(X)/g(X) € K(X,Y) | ..}
IcJHoiEI=Jtk5..

e RINBWATFTTVOES
ry=0= [y =0 F721F In e N, 2" = (]
VI

i 6.3.9

I:J2=I:J):J=(1:J)
=) J=(:J)

i 3.27

R ZRfrERE L,

73X [ 9(X0RX) — F(X) | h(X)
k[ X] i3 2.2.3 &0

Vu € k%, p1(X) #uq(X) &3 L
Yo € kX, p1(X) #vga(X) DEE
e1p1(X) = qi(X)(e1 € k)

AERL 4.1.7
o(X)=T30(Y)=T*0(Z)=T°
XHiz, (2) &b,

VIR = f(VI)R ORI f(VI) TH 5
= (z")™ =0,...

L 3.3.11, Wi 4.1.15

Z D (0) THRVTRTOHERE S FT L Q i...
[¢P—(Q:D)=Q

= ze(Q:1)
KerfCPNQ%ZAZLTWSD

lpr = f(1r)

U & fH(P) WEAT TV
Q:=QyNQi,N--NQ;,

e ZQITED

(I:2) = (M Qi) : () =M1 (Qi : @)
ThdLED.

B ROATFTNVTKerfCQ; 29 5.
RDAFT7I P> Ker fIZLT

(*) IT=Ni, Qi = f(I) =iz, f(Qi)
(#%) Qi DNz Qi == f(Qi) DN F(Qi)

WS, () & () =N Q) RHEEAMR -

THIZ, (xx) &P

FoT, (x) &V T=N"_,Q; & -
FESRAE (%) &0

RIX]p = {F(X)/g(X) € K(X) | .}
ICIROETI=JF-EJ=RE%5..
L RENBVTRTOA FTIVOES
zy=0,y#0= In e N,z" =0
(V)"

e 6.3.7
(I:J)={I:J):J=U:J)=1
=) TJ=T:J)=1

g 3.28

REZXx—X—[GFERE L,




3

0.196,7 14
p.196,1 14
p.196,1 14
p.198,] 1,2
p. 198,17

p.200,1 14
p.203,1 20
p.205,]) 3

0.206,7 11

2, EACI THBNH,

a;x; €1 2720,

x, €1 %155,

% 3.3.11

@) I'nJy=--

L EIRETBRE, PNPC PNk kD
(X,Y) C /X, Y2

(f5) 1% (f;) #EEA T TV

P = Ann(a) C Ann(az)

2, €EACTTHBENDG,

a;x; € J &R0,

reJEE5.

% 3.3.12

@) I'nJ)e=---

eSS E, PP, CPINP &b
(X,Y) c (X, 72

(fP) & (fi) ¥EFRA T TV

P = Ann(a) C Ann(az) C R




